N = 0l & At & M A

SN B2
H: UFTHE SHS (LI SHIY/ANLHY - HEXH)
Sl RYWA M 4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=1 543,931 529,714 14,217
ANETHE S (LT SHEY/XNLHE - HEXH) 318,614 299,588 19,026
KA Mg d 130,462 155,394 A 24,932
SESHQ MW Fel 130,462 155,394 A 24,932
201 L2l 63,332 69,205 A5,873
01 At 22l 43,250 48,703 A5,453
O YeragH| 43,250
o MM SEDUA HE L 28
723 + 7,50000 = 123l 6,480
o XA Mg OXAM M
70,0003 » 269 A 1,820
o XA Mg LR HHE MA E
=5 723 * 25,00001 = 63l 10,800
o XLH SE(HME)LNN 258 2S5
PNIES 35& = 30,00001 = 13l 1,050
o e s+=S2 FE MHMHlA 02
2,200,000& = 13l 2,200
o MY EXXE HsSE e ItE 2|
8,000& = 1004 800
o MY Exxg € ItE =2l
200,000& = 204 400
o Mg HelE fIg MEFHEE MUHIA 012
= 2,500,000& = 23| 5,000
o NYH Ha o1 SBHHTE X3l 24
= 2,050 * 200 * 1704 6,970
o SHYS IZHAE X3 +48
2,000 * 208 * 420 1,680
o BRNMBZDA SM4 20HHY 222
200,000& = 20A 4,000
o RESH FAIMSH Ae=24E Y
sz 250,000& = 13l 250
o AEJNE MHEME INYF, =4 oM =
== 3,0008 * 100F * 3 AL » 23 1,800
02 =24l 20,082 20,502 A 420
O 3232= % HMA 2,582
o HEghNs 8 SUHE MEE
23,000& = 104 ~ 12& 276
o MEXg HSE JIXAAY SHHY
3 ABZE 33,000& = 208 » 12& 792
© CCTV S GHEX & ASHEXE &5
SHAQHY 3 AIBZ 1,200
50,000& = 204 » 123
o A=Al 65,000& = 208 = 13l 130
o BIANEREES 46,0009 = 20H * 23] 184
O AIE&EH KX H 9,600




SN B
H: UFTHE SHS (LI SHIY/ANLHY - HEXH)
Sl RYWA M 4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o AMAZF HEXtE IXAAY (KA, A
=) FAE+ 400,000& * 20H = 12& 9,600
O xtg Hdetdl 7,900
o XA Mg A 8812 RFRU(ES
) 1,400 = 1,7504 ~* 20K 4,900
o XA Mg d+ 82X =2l &
22 FH| 1,500,000 * 2CH 3,000
202 044l 42,720 47,520 A 4,800
01 = LH o4 1l 42,720 47,520 A 4,800
O 2UA=F N2A Mgt =23
20,0002 = 11¥ * 10 * 123 26,400
O 220 XN2A Mgt =2
85,000& * 8H * 4& » 33 8,160
O NSXAl HMEXe st AXNES
10,000 = 4% * 128 * 123 5,760
O ge MWL +8 L DY (=VA
) 20,000& = 1H » 10 * 123 2,400
303 Z& 3 19,410 19,410 0
01 243 19,410 19,410 0
O WHEE AM MEH 2oz 17,010
o 14Xt 700,000,000& = 1/100 7,000
o 248Xt 182,000,000 = 3/100 5,460
o= 349Xt 91,000,000 * 5/100 4,550
O BAE HSXA Mg & =8 Z4Z3 (
Hize ol &) 24,000,000& * 10% 2,400
405 TtabH S| 5,000 0 5,000
01 AL EZFH S 5,000 0 5,000
O II7I2H0| 2EYR AIAHES MY 2
5,000,000& = 14 5,000
SsH0 N2+ &5 169,192 126,014 43,178
Nel+=g S 169,192 126,014 43,178
201 Let24d] 55,341 55,140 201
01 At 22/l 45,141 44,940 201
O Mel+¢g 0CRLXAM M= 2,750
o FIlZ, =AlE 55,0008 * 158fA * 23] 1,650
o Mg 55,000& = 10A + 23] 1,100
O MEINE 8 =2
661,600,000& * 2.6% 17,202
O JHEAHE Ol8s=2
80& = 3,000 = 123 2,880
O MHssAHIN(LBI) A2F 7¢ 13,525
o g2 16,0002 * 4004 6,400
o 2= 200,000& = 1504 3,000




A 3

EESREPN;

tel: = ol Mel=+¢ %‘%OO o o (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o =S EX 4,500& = 25004 1,125
= &l E 200,000& = 1504 3,000
O Mel+e My JaEgs o2 R
=1 723 + 8,00000 * 93| 5,184
O 23t &F, oMl g dUEE =2
1,000& = 20024 » 123 2,400
O JRMMRARASE 32 29 =C
100,000& * 6H =« 23| 1,200
02 3323l 10,200 10,200 0
O A& ZHIKRXH 10,200
o oEJ| |RAE=H 500,000& = 123 6,000
o M2=g MENE HREAAY FANE
350,000& = 12& 4,200
202 04l 16,940 16,710 230
01 = LHA YI 16,940 16,710 230
O Mg 2o, d2XE, R 9 S
85,000& * 298 = 3¢ =« 23| 1,020
O Mg FBAAH MAWNS
85,000& » 29 = 38 =« 23| 1,020
O Meo+g SEUHEY L MgW 85 (2
L) 10,140
= =X 20,0003 = 6Y * 6 * 123 8,640
o &A 50,000& = 3¥ * 2& * 53 1,500
O Z2A0F M=+ MEH 2=
85,000 * 2 * 4 * 33 2,040
O M= tedas I 3
20,0003 * 29 = 2 « 73| 560
O M=+ MEXIE &= e HE8S
10,000& = 3 = 6 » 123 2,160
303 ZA& 3 10,500 10,500 0
01 243 10,500 10,500 0
O M2=g BUEE MEN A= L 22 =
XM ZMZ 3,500
o X+ BAM 1,000,000& * 1JH A 1,000
o 2 2A 500,000& * 30 2 1,500
o & 2AM 250,000& * 4JH A 1,000
O M=+ MW = ZAF 7,000
o 18Xt 280,000,000& = 1/100 2,800
o 24Xt 70,000,000& = 3/100 2,100
o 39Xt 42,000,000& = 5/100 2,100
308 XXl £t S 01 & 30,928 30,500 428
103/ 2SHUESZAEEAIS I 30,928 30,500 428
O M2+ HBAAHE S B
30,928,000& * 1A 30,928




SN LD
H: UFTHE SHS (LI SHIY/ANLHY - HEXH)
??: E2X MA+Y &5 (SH9: &)
SA - BB B () - MM - BES Ol &t o San HmEET
403 UHXSHHSA=0l& 32,683 0 32,683
02 SO 2SOCHst 2 X 2 A I 32,683 0 32,683
O XM XIZAMA+ FEAIAE IS
32,683,000 * 14 32,683
405 XHoHF S HI 22,800 13, 164 9,636
01 HatH ESFH S 22,800 13, 164 9,636
O MHs2IIAH(ASI) WA
2,280,000& = 10CH 22,800
NSHUEHE MEH = 18,960 18,180 780
g WEHE MEH =012] 18,960 18,180 780
201 2et24d] 11,400 11,640 A 240
01 At 22l 10,800 10,800 0
O L=t 10,800
o FEXRALNHE MEAHUHE oM E S
= 723 * 25,00000 = 63l 10,800
02 =224l 600 840 A 240
O A2 S8 EXANAH SAE
50,000& = 12& 600
202 O4dl 7,560 6,540 1,020
01 = LHO YI 7,560 6,540 1,020
O MHEUHE HEH H= 5,880
o 2t 20,000& = 2 * 8¢ » 123 3,840
o 22| 85,000& » 29 = 42 « 33| 2,040
O &AIZF Hgxte gHsit 9
10,0008 = 1H * 14 * 123 1,680
HE2AZH(H4=1)(JEH/IIE) 225,317 230,126 A 4,809
ol 2 gl 8,318 4,567 3,751
ol 2AH| 8,318 4,567 3,751
101 14 dl 8,318 4,567 3,751
03 RIAHAZ 2 E =+ 8,318 4,567 3,751
O A28 8,318
o IpAZE
9,062& * 1H = 20AI2t = 12& = 150% 3,263
o L&A=
14,0392 » 1H = 20AI2F = 128 = 150% 5,055
JlEZ3l 216,999 225,559 A 8,560
JlE&l 216,999 225,559 A 8,560
201 L2l 205,507 211,387 A5,880
01 At 22l 35,106 37,508 N2,402
O 2ot H SHAA 17,059,000& * 14 17,059




SN FAD
M HHE2HAH(Z =) (JIEH/IIE)
¢l =gl (chel & 9l)
SA - BB B () - MM - BES Ol &t o San HmEET
O SEH A& 18,047,000& * 14 18,047
02 2324l 170,401 173,879 A 3,478
O 22222 % HMA SHAHA
170,401,000& * 14 170,401
202 oddl 7,292 9,372 A 2,080
01 SLHOIYI 7,292 9,372 A 2,080
O BA2Y AL 7,292,000& = 14 7,292
203 YR =&l 4,200 4,800 A 600
04 EANSIHRF=EHI 4,200 4,800 A 600

O &A=x=m(27E) 350,000& * 12& 4,200






